_ 5 Felp 2009 & 006 Kegtalion 2.

2/6/2009

® \ectuve 2L venien
Mexge - S6TT

Cam /ng onolysts

x Divde - and - Qﬁﬁﬁ? . .
Mayimium — Ccovy sulpsel swm I
<oastuba. MusHpkalion v

w@C
Complex Nn \e
@&\o natadion m@x,f Qfm, HJV«,A?A )
£ = 0 Qnﬁé 05 N 0 / -
B gk 2o vl N, k. fW <Lk /@c»: fox ¥ N77M6
@:w- Ol nadaddon

z b\ﬁ Q/ug ™
Al mo#@v\/ﬁénﬁj kM, W2
A oo
ne mzw?f mﬁoﬁnﬂi ;e v v N> /&?c.ﬁ;A/h?;ﬁ/w?s\ﬁwf




M et mgudmn mwojf%bz& SubgeX, Sum Problem

Tapuk @ Aoy of M Ploody t b
oﬁwmam - Mo mc%/ b%wngﬂmﬂq/%ﬁ 82%65 Asveetat ot mpl

X 131 [-ailpq\26\-52 |58 \q7 asl.0| 84
‘ﬁ . _ H/ _ x(2...€70 , E_ﬁ

2 6
T ald numbefs In ® ave posifive ¥ Taje e, whle atiry
I0 ol umbexe 't R ave 5&@&4@@ Take, NOtInG:
Pt Og?ﬁoa%?b QI AN NGT 4@??5 P Toke ol e ,momf/ﬁ elements,

Al @olf::

\%8% surn 6 ol @B@% Hen AT and feke madmum
N




>Joﬁ Hoam

mnoxsobery = 0
Fov 1= Lo — M steps
fox j=Cin)  ~—> M
SuM =0
Pt k=Ciyd —
QUM = QN Y XKD /% o D Sum ¢ NCi-))
393%% = o naxsebar, sum)

oMm?)

B&ﬁz,%é 2
,BQWQTA =0 n
h@& # HmO_«/.u \

sum =0

fox = i) -

somz som+xGl /7 sum( A= sum(ACi-j-17) + ACY]
53 \OY sk = ynax 038»8@99 um,)

O (n*



>§%§3 5
CAMONYY - HOK«/

_ﬂOA ﬂnm\o_ﬁv i . \
coma (1) = aamaw Li-v) + 7 C) /4 cumantay () = _W.#n_b =gum (o)) =/
=

moxsskar =0 . <</,

ﬂQ« | = m,\oz)v v
hﬂz uuﬁm\jv . .
sthm = owaman () - asnanay Tiay /% Sum(MCi))) = sun(M Lo .))- sumbnlo A1)
o) o sokay = Nar( ﬁ/pxman@ﬁ SUIM) = BE%ES\V ,Qﬁéiﬁ Q\@
O W™

DIVIDE AND CONQUER -)
— o ]
T " T, | ) Max(femMpme)
L L Me | U




E&o«#f% &

£loak maxsum3(L,v o =
(£ (L7v) ﬁ\x VNCé dernents =/ [y = 2T(nl2) -0t

n,«@«c; O
fco==u) /* 6Ne eleaNnt x/ \0
cetury  wox(s, D) Oln 43
M= (3+U) [ 2
/* Cind tnox Pamm.,vﬁx © \eft %/
Imox =sum=0 «— "N
Loy Ci=my i7=%;1--)
sum = swn +NnCyJ
Lmax = max (Xmax , sum)
/# Lind wax crossing 5o i@ﬁna\
YMOK = wcgw\Ow\,,)
foc 1= (mU]
UM = s + N
Ymax = Y\GX (Y nax, sum)
XY Maxk ( W00e< 4 YMOeR , MOssSBM 3L M), Yaxsuma( v, o))



2&&&?2 5
BQXwopZ =0
é@x%%ﬁ&f@% =0 on)

Lot 1= Con)
éé%e;%sogfe/ﬁn ﬁ/oi?%%%ifeﬁq nCiy [0)

o sotan = %o Craxsotar rarendinghere)

KARASTUBA'S A LCRRITHM
MUWERPY A n-bit aumoets Kad
X = Kt K - X Ko

N = e Y Yo
Aagntnm A
wﬁﬂno K
fot =0,
fex uumo\,u
=)
SOM = syM + xc_wux/?,ﬂu
YesWK T = swrn wod 2. e = | sum| o

2 oln™)




camstuba's Al

0&2,%%;

K= %y 20" 4 X %o Tt Rapes < Tl

./A\V/v#pn,«/so\,* /AO X/Pm«g\/?\/%?\o\\.... \N/DS\\V
VAZ/A - hvh/ N«:ol../\X,od ﬂJfQ\&iF&\ /\ov

X e R A XY 2 4 XY
XiYe + XY,
Ky

—
-—

(Ko + A1) (Yo Y1) = Xe¥o = KyY,

KN 2 [ R ) (e 7)) —%eYam X% ) 2™ %+ %Y
(WY = >TCY ) + o)

O W9%>)
wﬁf.affaw@ ond Stoseny  O(n /awj 6@2@3 v




